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import java.util. Scanner;
public class Othel 003 {

static byte yx = 1; //O%1%x 1:0 2:@
static boolean place; //boolean?dD#JHA{E : false
static boolean place2;
static boolean sirokuro;
public static void main(String[] args) {
Scanner in = new Scanner (System. in);
byte[][] |sh| = new byte[8][8];
ishi[3]1[3]=ishi[4][4]=1;
ishi[3][4]=ishi[4][3]=2;
(ijn’i end=0; //#&T 757
)
byte end2=0; //4#— LT 757
V1A 2.0.5:50%.9.9.1
System. out. prlntln( j(d)%%
System. out. prlnt( x:7)s
for (int m=0 ; m<8 ; m++) {
System.out.print(" T (me) £ 77,

System. out. print ("¥ny ”);
for (int m=0 ; m<8 ; m++) {
System. out. print (" “);

System. out. printin();
for (int n=0 ; n<8 ; n++) {
System. out. print (n+1) ;
for (int m=0 ; m<8 ; m++) {
if (ishi[n][m]==1) {
System. out.print (" | O7);
end2++;
Yelse if(ishi[n][ml==2) {
System. out. print (" | @)
end2++;
lelse{
System.out.print (" | ”);

System.out. print(” | ¥n ”);
for (int m=0 ; m<8 ; m++) {
System. out.print (" | _");

System. out. printin(" | ") ;

}
i f (end2==64) {
break; //&2THDIANEE >T-58KT

}
//iririra<09%%1k1kuk
int x,vy;
do{

System. out. print ("x:”);

X = in.nextInt()-1;

System out.print("y(9THKT) ") ;

= in.nextInt()-1; // | x, y7b\87“fo§$ *;0)

}whlle(x<0 [l x>8 |] y<O0 || y>8 || ((x!=8 && y!=
if(x==8 || y==8){ /KT 754

end = 8; break;

}
V76.2.0.¢-38 0. ¢ ¢
byte self = yx;
place = false; //aL7gW&, —ER->TbE¥ITHEITS
place2 = false;
getlshi (ishi, x, y, self, true) ;
if(place2 == false) { //Z# DT A TIEEENIALIL WIS E
for (int m=0 ; m<8 ; m++) { //&< X %check!
for (int n=0 ; n<8 ; n++) {
if(ishi[m][n]!=0){ //BHFE LM\ EFrDHcheck!
continue;

getlshi (ishi,n,m self, false);
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if(place == true) { //BMNAENEIMTH AL, BILAENE NI RITEEIFRW
System. out. printin(” HX#L%)E#?T’&')U??’ 1)
| break;

]
if(place == true) {
break;

}
H@M%l-tmw{ﬁﬁﬂéEﬁECK%&Vﬁ6E<
ishilyl[x] =
yx = (yx==1) 7 (byte)Z (byte) 1;
}
}while (end<8) ;

static void getlshi (byte[][] ishi, int x, int y, byte self, boolean check2) {

get (ishi, x,y,self, -1, 1, check?); //ET
get (ishi, x,y, self, -1, -1, check?); //£ t
get (ishi, x,y,self, 1, 1, check2); //&T
get (ishi, x,y,self, 1, -1, check?2); //& Lt
get (ishi, x,y, self, 0, -1, check?2); //t
get (ishi, x,y,self, 0, 1, check2); //TF

get (ishi, x,vy, self,-1, 0, check?2); //%&
get (ishi, x,y,self, 1, 0, check2); //&

i f (check? && sirokuro) | //BxE £ B - 1= 5
yx = (yx==1) ? (byte)2 : (byte)1;
sirokuro = false;

}
static void get(byte[][] ishi, int x, int y, byte self, int a, int b, boolean check2) {
int x1 = x+a
int y1 =
it (x1>=0 && y1> 0 && x1<8 && y1<8) {
byte teki = (self==1) ? (byte)2 : (byte)1; )
if(is?i[y1][x1] == teki) { //#E LB L THLIERD < X %check!
x1+=a;
y1+=b;
while(x1>=0 && y1>=0 && x1<=7 && y1<=7) {
WU?WFHH]:OH NE#@ THILIEELL L
reak;
lelse if(ishilyl][x1] != teki) { )
place=true; //BXEDNKIZERFDEN HILIL

break;
x1+=a;
| y1+=b;
if(pl?cezztrue 8& check2==true) { //BiE 1B 5 IREE7L
x1-=a
yl1-=b;

wh|Ie(|sh|[y1][x1] == teki) { //BiEE=EET
ishily1][x1] = self;

x1-=a;
| y1-=b;
ishilyl[x] = yx; //S @&\ =%k
sirokuro = true; //GERXRTHHEIHN
place2=true;
place=false; //ZE Lo EM4ERYT HLELUEDget 0 TEHTERLTLED
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